

Houghton Mifflin Harcourt

Proposal

Prepared For

Warren Co School District

Attention:

Eric Mineweaser mineweasere@wcsdpa.org

For the Purchase of:

HMH Into Social Studies 6-12

Prepared By
Open Anthony Citro
anthony.citro@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

Attention: Eric Mineweaser mineweasere@wcsdpa.org Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Expiration Date: 8/1/2021

ISE	BN	Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials			
	Crada 7										
s	<u>Grade 7</u> tudent Digital Li	censes									
1792568	9780358426295	HMH Social Studies Ancient Civilizations License Digital 7 Year	Student	\$112.00	335	\$37,520.00	\$5,628.00	\$31,892.00			
	Includes: Digital Student I Implementation	Resources 7 Year Grade 6-8 Success									
Т	otal for Student	Digital Licenses		\$31,892.00							
Т	eacher Digital Li	icenses									
1808175	9780358553298	2019 HMH Social Studies Ancient Civiliza License Digital 7 Year	ations Teacher	\$525.00	6	\$3,150.00	\$3,150.00				
	Includes: HMH Social Studi Year Grades 6-8 Access to Teache	ies Ancient Civilizations Digital Teacher Re er's Corner	esources 7								
T	otal for Teacher	Digital Licenses									
A	Total for Teacher Digital Licenses A la Carte Items Available for Purchase										
T	Teacher Materials										
1655771	9780544917880	2019 HMH Social Studies Ancient Civiliza Guide Bundle	ations Teacher	\$150.00	6	\$900.00	\$135.00	\$765.00			
s	tudent Materials	i									
1625552	9780544669215	HMH Social Studies: Ancient Civilizations Edition 2019	s Student	\$30.82	335	\$10,324.70	\$1,547.70	\$8,777.00			
T	otal for A la Cart	te Items Available for Purchase		\$9,542.00							
				A 44 484 88							
Total fo	or Grade 7			\$41,434.00							
S	<u>Grade 12</u> tudent Digital Li	censes									
1792554	9780358426158 Includes:	High School Economics Student License Resources 7 Year Grade 9-12	Digital 7 Year	\$112.00	172	\$19,264.00	\$2,889.60	\$16,374.40			
	Implementation										
1792580	9780358426417	High School Government Student Licens Year	se Digital 7	\$112.00	173	\$19,376.00	\$2,906.40	\$16,469.60			
	Includes: Digital Student R Implementation S	Resources 7 Year Grade 9-12 Success									
Te	otal for Student	Digital Licenses		\$32,844.00							
Teacher Digital Licenses											
1808187	9780358553410 Includes:	2018 Economics Teacher License Digital	l 7 Year	\$525.00	4	\$2,100.00	\$2,100.00				
			Attention Eric Minewe mineweasere@w	aser		9400 South F Orlando	r Experience Park Center Loop o, FL 32819				

FAX: 800-269-5232

Expiration Date: 8/1/2021

ISE	BN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	Economics Digital Access to Teacher	il Teacher Resources 7 Year er's Corner					
1808191	9780358553458	2018 United States Government Teacher License Digital 7 Year	\$525.00	4	\$2,100.00	\$2,100.00	
	Includes: United States Go Access to Teache	vernment Digital Teacher Resources 7 Year er's Corner					
Т	otal for Teacher	Digital Licenses					
A	la Carte Items	Available for Purchase					
T	eacher Materials	S					
1632738	9780544742857	2018 United States Government Teacher Edition	\$150.00	4	\$600.00	\$90.00	\$510.00
1648179	9780544859302	2018 Economics Teacher Edition	\$150.00	4	\$600.00	\$90.00	\$510.00
s	tudent Materials	3					
1632737	9780544742680	2018 United States Government Student Edition	\$21.53	173	\$3,724.69	\$558.79	\$3,165.90
1648178	9780544859296	2018 Economics Student Edition	\$38.02	172	\$6,539.44	\$980.40	\$5,559.04
T	otal for A la Car	te Items Available for Purchase	\$9,744.94				
Total fo	or Grade 12		\$42,588.94				
	or Grade 12 Psychology tudent Digital Li	& Sociology icenses	\$42,588.94				
		z & Sociology icenses 2018 Psychology Student Edition Online 7 Year Digital	\$42,588.94 \$60.69	120	\$7,282.80	\$1,092.00	\$6,190.80
s	<u>Psychology</u> tudent Digital Li	icenses		120 120	\$7,282.80 \$7,282.80	\$1,092.00 \$1,092.00	\$6,190.80 \$6,190.80
\$ 1678886 1678630	Psychology tudent Digital Li 9781328755032 9781328753014	icenses 2018 Psychology Student Edition Online 7 Year Digital	\$60.69				
\$1678886 1678630	Psychology tudent Digital Li 9781328755032 9781328753014	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses	\$60.69 \$60.69				
\$ 1678886 1678630 To	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses	\$60.69 \$60.69				
\$ 1678886 1678630 To	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student eacher Digital L	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses icenses 2018 Psychology Teacher Digital Management Center	\$60.69 \$60.69 \$12,381.60	120	\$7,282.80	\$1,092.00	
\$1678886 1678630 To 1678889 1678683	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student eacher Digital L 9781328755063 9781328753045	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses icenses 2018 Psychology Teacher Digital Management Center 7 Year Digital 2018 Sociology Teacher Digital Management Center 7	\$60.69 \$60.69 \$12,381.60 \$293.45	120	\$7,282.80 \$880.35	\$1,092.00 \$880.35	
\$1678886 1678630 To 1678889 1678683	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student eacher Digital L 9781328755063 9781328753045 otal for Teacher	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses icenses 2018 Psychology Teacher Digital Management Center 7 Year Digital 2018 Sociology Teacher Digital Management Center 7 Year Digital	\$60.69 \$60.69 \$12,381.60 \$293.45	120	\$7,282.80 \$880.35	\$1,092.00 \$880.35	
\$1678886 1678630 To 1678889 1678683	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student eacher Digital L 9781328755063 9781328753045 otal for Teacher	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses icenses 2018 Psychology Teacher Digital Management Center 7 Year Digital 2018 Sociology Teacher Digital Management Center 7 Year Digital Digital Licenses Available for Purchase	\$60.69 \$60.69 \$12,381.60 \$293.45	120	\$7,282.80 \$880.35	\$1,092.00 \$880.35	
\$1678886 1678630 To 1678889 1678683	Psychology tudent Digital Li 9781328755032 9781328753014 otal for Student eacher Digital L 9781328755063 9781328753045 otal for Teacher	2018 Psychology Student Edition Online 7 Year Digital 2018 Sociology Student Edition Online 7 Year Digital Digital Licenses icenses 2018 Psychology Teacher Digital Management Center 7 Year Digital 2018 Sociology Teacher Digital Management Center 7 Year Digital Digital Licenses Available for Purchase	\$60.69 \$60.69 \$12,381.60 \$293.45	120	\$7,282.80 \$880.35	\$1,092.00 \$880.35	

Attention: Eric Mineweaser mineweasere@wcsdpa.org

Expiration Date: 8/1/2021

ISE	BN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials		
s	Student Materials								
1648182	9780544859388	2018 Psychology Student Edition	\$31.20	120	\$3,744.00	\$561.60	\$3,182.40		
1648180	9780544859364	2018 Sociology Student Edition	\$31.20	120	\$3,744.00	\$561.60	\$3,182.40		
Т	otal for A la Car	te Items Available for Purchase	\$7,129.80						
Total fo	or Psychology	& Sociology	\$19,511.40						
s	<u>Grade 11</u> tudent Digital Li	censes							
1792556	9780358426172	High School World History Modern Student License Digital 7 Year	\$112.00	250	\$28,000.00	\$4,200.00	\$23,800.00		
	Includes: Digital Student F Implementation	Resources 7 Year Grade 9-12 Success							
T	otal for Student	Digital Licenses	\$23,800.00						
T	eacher Digital Li	censes							
1808209	9780358553632	2020 High School World History Modern Teacher License Digital 7 Year	\$525,00	8	\$4,200.00	\$4,200.00			
	Includes: High School Work Access to Teache	d History Modern Digital Teacher Resources 7 Year n's Corner							
To	otal for Teacher	Digital Licenses							
A	la Carte Items A	Available for Purchase							
T	eacher Materials	:							
1655695	9780544915589	2018 Modern World History Teacher Guide Bundle	\$150.00	8	\$1,200.00	\$180.00	\$1,020.00		
S	tudent Materials								
1625542	9780544669116	2018 Modern World History Student Edition	\$41.78	250	\$10,445.00	\$1,567.50	\$8,877.50		
To	otal for A la Cari	te Items Available for Purchase	\$9,897.50						
Total fo	or Grade 11		\$33,697.50						
s	Grade 9 & 1 tudent Digital Li	<u>0</u> censes							
1792582	9780358426714 Includes: Digital Student R Implementation S	American History Student License Digital 7 Year tesources 7 Year Grade 9-12 Success	\$112.00	650	\$72,800.00	\$10,920.00	\$61,880.00		
To	otal for Student	Digital Licenses	\$61,880.00						

Attention: Eric Mineweaser mineweasere@wcsdpa.org

Expiration Date: 8/1/2021

ISI	3N	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials		
Teacher Digital Licenses			1		atorialo	materiale	indionalo		
1808183	9780358553373 Includes:	2018 American History Teacher License Digital 7 Year Digital Teacher Resources 7 Year	\$525.00	17	\$8,925.00	\$8,925.00			
T	otal for Teacher	Digital Licenses							
A	la Carte Items /	Available for Purchase							
Т	eacher Materials	S							
1655634	9780544915497	2018 American History Teacher Guide Bundle	\$150.00	17	\$2,550.00	\$382.50	\$2,167.50		
s	tudent Materials	3							
1599132	9780544454194	2018 American History Student Edition	\$42.71	650	\$27,761.50	\$4,166.50	\$23,595.00		
т	otal for A la Car	te Items Available for Purchase	\$25,762.50						
Total fo	or Grade 9 & 10	0	\$87,642.50						
s	<u>Grade 8</u> tudent Digital Li	censes							
1792553	9780358426141 Includes: Digital Student Implementation	High School Civics Student License Digital 7 Year Resources 7 Year Digital Grade 9-12 success	\$112.00	345	\$38,640.00	\$5,796.00	\$32,844.00		
т	otal for Student	Digital Licenses	\$32,844.00						
т	eacher Digital Li	icenses							
1808199	9780358553533 Includes: High School Civic Access to Teache	2018 High School Civics Teacher License Digital 7 Year s Digital Teacher Resources 7 Year or's Corner	\$525.00	7	\$3,675.00	\$3,675.00			
т	Total for Teacher Digital Licenses								
A la Carte Items Available for Purchase									
Teacher Materials									
1655718	9780544917149	2018 Civics Teacher Edition	\$150.00	7	\$1,050.00	\$157.50	\$892.50		
s	Student Materials								
1655717	9780544917132	2018 Civics Student Edition	\$31.42	345	\$10,839.90	\$1,624.95	\$9,214.95		
Т	otal for A la Cart	te Items Available for Purchase	\$10,107.45						

Attention: Eric Mineweaser mineweasere@wcsdpa.org

Expiration Date: 8/1/2021

ISE	BN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Total fo	or Grade 8		\$42,951.45				
In	Professiona plementation S						
1693394	The Getting Starte preparing teacher in a variety of inte resources of Socia	Social Studies Getting Started Two Hour High School Live Online ed live online session is streamlined to focus on s for their first weeks of instruction. Participants engage ractive experiences to learn about the organization and al Studies. The goal is to build confidence and prepare ong start with Social Studies.		1	\$800.00	\$800.00	
1810865	Follow-Up session full advantage of sand digital tools to team member will	2018 Civics Follow Up Live Online 1 Hour Grades 9-12 ns build upon the Getting Started to help teachers take Social Studies components, assessments, differentiation, o meet the needs of their students. An HMH Services work with you to choose from key Social Studies d topics to create a personalized Follow-Up 1 hour live		1	\$400.00	\$400.00	
1728636	full advantage of S and digital tools to team member will	Social Studies Follow Up 1 Hour Live Online Session 1 Grade 6-8 Ins build upon the Getting Started to help teachers take Social Studies components, assessments, differentiation, meet the needs of their students. An HMH Services work with you to choose from key Social Studies d topics to create a personalized Follow-Up 1 hour live		1	\$400.00	\$400.00	
1728641	full advantage of S and digital tools to team member will	Social Studies Follow Up 1 Hour Live Online Session 1 Grade 9-12 Is build upon the Getting Started to help teachers take Social Studies components, assessments, differentiation, meet the needs of their students. An HMH Services work with you to choose from key Social Studies d topics to create a personalized Follow-Up 1 hour live		1	\$400 <u>.</u> 00	\$400.00	
1728641	full advantage of S and digital tools to team member will	Social Studies Follow Up 1 Hour Live Online Session 1 Grade 9-12 as build upon the Getting Started to help teachers take Social Studies components, assessments, differentiation, meet the needs of their students. An HMH Services work with you to choose from key Social Studies d topics to create a personalized Follow-Up 1 hour live		1	\$400.00	\$400.00	

Total for Professional Services

\$0.00

Attention: Eric Mineweaser mineweasere@wcsdpa.org

Date of Proposal: 12/2/2020

Proposal for Warren Co School District

Expiration Date: 8/1/2021

ISBN

Title

Price

Value of all Quantity Materials Value of Free Materials Value of Charged Materials

Subtotal Purchase Amount:

Shipping & Handling:

\$267,825.79 \$3,970.13

Total Cost of Proposal (PO Amount):

\$271,795.92

Please add proper sales tax to your order

Attention: Eric Mineweaser mineweasere@wcsdpa.org

Date of Proposal: 12/2/2020

Proposal for

Warren Co School District

Total Cost of Proposal (PO Amount): \$271,795.92

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:

Sold to:

Warren County School District

Warren County School District

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 12/2/2020 **Proposal Expiration Date: 8/1/2021**



Attention: Eric Mineweaser mineweasere@wcsdpa.org

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Expiration Date: 8/1/2021